
1-6 83 67 50 33 17 0

1) 64×49 = 2) 48×25 =

3) 43×24 = 4) 35×42 =

5) 33×39 = 6) 32×43 =

1. 3,136

2. 1,200

3. 1,032

4. 1,470

5. 1,287

6. 1,376

     

Usar la matriz proporcionada para resolver cada problema.
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Clave De Respuestas

1-6 83 67 50 33 17 0

1) 64×49 = 2) 48×25 =

60

40

4

(60 × 40)
2,400

(4 × 40)
160

(4 × 9)
36

9

(60 × 9)
540

40

20

8

(40 × 20)
800

(8 × 20)
160

(8 × 5)
40

5

(40 × 5)
200

3) 43×24 = 4) 35×42 =

40

20

3

(40 × 20)
800

(3 × 20)
60

(3 × 4)
12

4

(40 × 4)
160

30

40

5

(30 × 40)
1,200

(5 × 40)
200

(5 × 2)
10

2

(30 × 2)
60

5) 33×39 = 6) 32×43 =

30

30

3

(30 × 30)
900

(3 × 30)
90

(3 × 9)
27

9

(30 × 9)
270

30

40

2

(30 × 40)
1,200

(2 × 40)
80

(2 × 3)
6

3

(30 × 3)
90

1. 3,136

2. 1,200

3. 1,032

4. 1,470

5. 1,287

6. 1,376

     

Usar la matriz proporcionada para resolver cada problema.
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